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Q. No. 1 (a to g) carries 1 mark eacly (/s foum) USISEE S 1x4 = 4
Q. No. 2 (a to 8) carries 1 mark eacli (any four).............oo.o..... Ix4 = 4
Q. No. 3 (a to m) carries 2 marks each (ar plem) sl SHne e 2x10 = 20
Q. No. 4 (a to 1) carries 3 marks eacl (el e Vot AL 3x9 = 27
Q. Nos. 5 (a to e) carries 5 marks each (G three). S0 wnn 5x3 = 15

Total = 70
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Answer any four of the following : 1x4=4

| S [RICPIC! DI 2 Sws Bl

(@) Which one of the following is an economic factor influencing
the distribution of population ?

SRR OIS SO TR o/ GACE! A o2
Choose the correct answer :

&% CGTCo! TR Ce £

() Climate (1Y)

(i) Soil (FD)

(i) Minerals (49 #imi<f)

(itv) Landforms (Z=iho)

(b) Which one of the following is a secondary activity ?

(c)

4T GEOG

feEe @k ReEs gie?
| Choose the correct answer :
&% GGIChl R Clereq) ¢
(i) Paddy cultivation (xcfS)
(ii) ~Mining (=)
(i) Chemical based industry (57eTe Teatat)
(iv) Tourism (0<)
Which one of the following is not a tertiary activity 7
Chobse the correct answer :
&7 CGSCol TR Clered 8
(i) Advocate (TFe)
(ii) Teacher (F%s)
(iii) Industrial worker (SCailsl 1)
(iv) Doctor (TI&<)

(d) Which one of the following is a secondary activity ?
N TrEde (@A o Je?
Choose the correct answer :
o7 Geaehl JIR CeIed &
(i) Farming GIERRRD)
(i) Manufacturing (fFretiel =15)
(i) Hunting (BFR )
(iv) Trading (GIREIR FE)

(e)

Halifax city with the Vancouver city ?

Which trans-continental railways of the following connects

SRS (P! IGIIIETAE @ (RFES baSE (S5 Ui b o1e

HeCAlal FR0R?
Choose the correct answer :

w5 GEswo! JIR CleTed &
(i) Trans-Siberian Railway (G-3RIl (i)

(i) Trans-Canadian Railway (T=-Ael @@ #iY)

(iti) The Union and Pacific Railway (LS SIF 2#® (&52)

(iv) The Trans-Australian Railway (GF-SIZHERIN (SE1912)

() Which one of the following types of economic activitie:

dominates in all rural settlements ?
Tl A SIS OEN (SRR 978 T2
Choose the correct answer :
wer GGSCol Nz Gl sl &
() Primary (2liefie)
(i) Secondary (&Si=)
(i) Tertiary (POF)
(iv) Quaternary (59<%)
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(g9 As per 2011 Census, the population density (persons per 3. Answer in brief : (any ten) ; 2x10=20

sq. km) in India is o3 e Wl ¢ (e 72h))
305 B (IIEIRRE STl OIS TePRIR Y (e dfS <o f:f5t) 2= (@) Write two major causes of population growth.
Choose the correct answer : ' ' Gkl JiEE 70! 320 PR G|
o CETeDl TR @%GW 3 | : ; : _ (b) Mention fwo types of subsistence agriculture.
() 313 (939) | . 7% o (AR $R T |
(i) 328 (93¥) ! : (c) Mention two types of plantation agriculture.
(i) 382 (9v2) s | St 72 oo o 9 SER |
(iv) 390 (9»0) | (d) What are tﬂe two main factors affecting mining activities ?
2. Answer very briefly : (any four) ‘ : 1x4=4 ' e FE Aeid TN 9 449 T 700 < 2
- 9o EE:‘Z?? Tes 3l ¢ (R i) ' ~ (e) Mention two types of animal baséd industries.
(a) Name of the state where Hooghly Industrial Region is located. o A SRS 72 T Somiei s |
olfer Somglsl Siges] 4l e I ' ‘ () Which are the two main factors of population migration ?
(b) One mining town of Assam | CHEEGA 24 S 707 [ /6 )
SSE W3 AHfCTES T99 (g) Give two reasons of low level Human Development in most of
‘ ] . ' the Northern States of India.
(c) One administrative city of Assam ' | ] @@WWWW?WWWWWW S
S G AP B S | . ] L ,
(d) One type of Non-Ferrous Amineral (h) Mention the name of two mining towns of India.
ﬁﬁ&@—ﬁ]ﬁ@@ﬂﬂﬁ'@mq : : : % WE@?@W&WW%QWI
(e) Location of Tata Iron and Steel Plant ¢ () Mention two zaid crops produced in India.
S5l IS SoniR S - Sisade TR (ERI 7Y G SR S 9N S = |
() Highest amount of sugar producing state of India () Name two cropping seasons of India.
res w5 BT 1 I | SrRes 70 F19 4T TN
(g)‘ One National Park of Assam : (k) Name two non-metallic minerals found in Assam.

S 93 G I T Al W&W—mvrﬁ@m%mﬁm
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() Mention two Industrial Regions of India.
ST 76 Suihie SReeE w8 S 9 |

(m) Name two International Airports of India.
SIeS 70 SIBEos [ Tw=s I forall |

4. Answer the following questions in about 100 words each : (any nine)
3x9=27

oo Tl e AfSN Bed Soobl XN fvess fal 8 (e 7751
(a) Who are considered as literate persons in India ?

SRS (S AFE Jfed FEFe 61 9167 9 2 2 ‘
(b) Discuss the approaches to Human Development.

N JerE AALed /I vl 41

Mention the main characteristics of Foot Loose Industries.

5578 i Soiele 427 ReReriR SR

Write the basic difference between barren land and cultivable

(c)

(@)

wasteland. ! . :
sifesl oI PRGN AfooghE Tee LB I AL & B

(e) Discuss briefly the major causes and effects of depleting water

resources in India. ,
SRS G @ 219 CAIRIS I3 9 SIS O ACR ST St |

Write briefly about the knowledge based industries.

(0
wRffes S [E@ i ol |

(g) Write briefly on the types of industries on the basis of ownership.
SiferRlags SaRe s i FeeEEa [ vy ol |

(h) Write about the Hill Area Development Programme in India.
e ARl S GaEe IO [Ec o

(i) Write about the Satellite communication system in India.

wlaoe Golgss El FE @il 92[ [ac &4
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Discuss about the importance of Rail Transport in India.

0)
GITORS (61 AR TIZN ST D= 5 |

(k) Write the main causes and consequences of Air Pollution.
A evEeIR IR PN O e [E R

() Write a note on Petrochemical industry of Asemmal
SETE (A5 IFRET CUHis oo ol (G o2l |

Answer the following questions : (any three) 5x3=15

oo Wl eisTes O Al ¢ (R fofas))

(@)

(b)

()

@

- (¢

Give the definition and explain the importance of Human
Geography. 3+2=5
TR SN e Al o 2N @R I 9|

What do you understand by density of population ? Mention

the major factors influencing the distribution of population.
2+3=5

GEPRAIR TTg I 16 T 2 TN Rese 2O (SITER 3R TR
T 4| -

Write about the factors affecting tourism.

A5 derIEe A IR [ &=

Explain the functional classification of towns.

ol Tofee P ETReE i =1

Draw an outline map of India and mark the locations of the

following therein :

SREIEE SN (AR GE TAbE ST T W O we RS
sl (46l 8

(i Digboi ([&3)

(i) River Brahmaputra ‘(giﬁvjqﬁ%)
(iii) Jamshedpur (@T'S]Ui.'?rvf{)' S

[7]
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